Ingersoll
SHREDDER - CHIPPER
HS24W, HS24H

AHS24W, AHS24H
Operator’'s Manual 8-57381

/ e
\ X

QUALITY IN THE AMERICAN TRADITION

Printed in U.S.A. Ingersoll Equipment Co., Inc.  Winneconne, Wisconsin 54986-9576




This Safety Alert Symbol Indicates Important |
Safety Messages In This Manual When You
See This Symbol Carefully Read The Message

That Follows and Be Alert To The Possibility
Of Personal Injury Or Death

IF THIS MACHINE IS USED BY AN EMPLOYEE OR IS LOANED OR
RENTED, MAKE ABSOLUTELY CERTAIN THAT THE OPERATOR(S),
PRIOR TO OPERATING:

1. IS INSTRUCTED IN SAFE AND PROPER USE.

2. REVIEWS AND UNDERSTANDS THE MAN PERTAINING

TO THE MACHINE. ((bs\
o

(2

751253

AWwaARNING

BEFORE STARTING ENGINE

S@)PERATOR'S MANUAL SAFETY MESSAGES
READ ALL SAFETY SIGNS ON MACHINE

CLEAR THE AREA OF OTHER PERSONS

LEARN & PRACTICE SAFE USE OF
CONTROLS BEFORE OPERATING

IT IS YOUR RESPONSIBILITY TO UNDERSTAND AND FOLLOW MANUFACTURER'S INSTRUCTIONS
ON MACHINE OPERATION, SERVICE, AND TO OBSERVE PERTINENT LAWS AND REGULATIONS.
OPERATOR AND SERVICE MANUALS MAY BE OBTAINED FROM YOUR EQUIPMENT DEALER.

The engine exhaust from this product
contains chemicals known to the State
of California to cause cancer, birth
defects or other reproductive harm.




TABLE OF CONTENTS
Safety Messages . . . . ... e e e e e 4-5
Operation ..... e e e e 6-9
General Operation . ... ... ...ttt i e e 6
Shredding TIPS . .. ..ottt e e 7-9
Maintenance and Storage ... ....... ... 9-10
Installation ... ... ... ... e e e 10-11
Assembly of Hopper .. ... ... . . . i e e 10
Trailer Assembly . . ... ... . e e e 11
SAFETY ALERT SYMBO OTATIONS

N

O

@
@’ RTANT

A CAUTION
A NG

A DANGER

e followmg safety notations are used throughout
this manual to call attention to special information
or operating procedures. Understand the message
in each notation. Be alert to unsafe conditions and
the possibility of personal injury.

NOTE: A NOTE points out general reference infor-
mation regading proper operation and maintenance
practices.

An IMPORTANT statement indicates specific pro-
cedures or information that is required to prevent
damage to the machine or its attachments.

This safety alert symbol is used to attract your at-
tention! PERSONAL SAFETY IS INVOLVED! When
you see this symbol - BECOME ALERT - HEED ITS
MESSAGE.

CAUTION indentifies safe operating practices or in-
dicates unsafe conditions that could result in per-
sonal injury.

A WARNING describes a condition where failure to
follow the instructions could result in severe personai
injury.

A DANGER designates a condition where failure to
follow instructions or heed warning will most likely
result in serious personal injury or death.




SAFETY MESSAGES

THIS MACHINE IS CAPABLE OF
INFLICTING SERIOUS INJURY

. READ WARNINGS AND
CAUTIONS

TRAINING AND PREPARATION

NEVER operate shredder-chipper before you read and
understand this manual completely. Become familiar
with it for your own safety. To fail to do so may
cause serious injury. Do not allow anyone to operate
your shredder-chipper who has not read this manual.

INTENDED USE
NEVER use your shredder-chipper for any other pur-
pose than shredding and chipping gardening pro-

ducts. It is designed for this use only and any other
may cause injury.

DANGER

Rotating cutting blades. Keep hands and feet out o
discharge opening while machine is running.

Rotating cutting blades. Keep hands V t
opening while machine is running.

parts of your body if they enter the i ?
area of your shredder-chipper. @

IF OPERATED IMPROPERLY - .

OPERATORS RESPONSIBILITY

NEVER allow children to operate your shredder-
chipper, nor adults lacking the proper instructions.
Keep children, pets, and bystanders a minimum of
20 feet away from your work area. Flying chips can
be hazardous.

NEVER run this machine in an enclosed area since
the exhaust from the tractor contains carbon monox-
ide which is an odorless, tasteless, and deadly
poisonous gas.

NEVER run this machine on cement or blacktop. This
machine should be operated ONLY on a level earthen
surface.

NEVER put your hands, feet, face, or any other part
of your body in th edvhopper of discharge area.

NEVER remove@ shield attached to the shred-

ding hopper ice prevents flyback and must
be intact at\all jtimes. This is a protective guard.
Neve tg chipper with the chipper hopper
rem

perate your shredder-chipper while under
luence of alcohol, drugs, or medication. A clear
ind is essential for safety.

NEVER allow a person who is tired or otherwise not
alert to operate this machine.

SAFETY WEAR

NEVER wear loose clothing or jewelry that can be
caught by moving parts of your shredder-chipper and
pull you into it. Keep all clothing away from moving
parts. Wear proper head gear to keep hair away from
moving parts.

ALWAYS wear safety glasses or goggles, and work
gloves at.all times while operating your shredder-
chipper. A chip could fly out and hit you in the evye.
Be sure your glasses fit properly and your gloves do
not have loose cuffs or draw strings.

OPERATING PROCEDURE

ALWAYS know how to turn the unit off.

NEVER clear discharge area while unit is running.
After shredder-chipper is shut off, then use a long
handle tool to clear area.

NEVER move your shredder-chipper or leave it unat-
tended with the PTO engaged.




OPERATE IN SAFE ENVIRONMENT
NEVER operate your shredder-chipper on slippery,

wet, muddy, or icy surfaces. Safe footing is essen-
tial in preventing accidents.

ALWAYS keep work area clean and clear of debris
so that you don’t stumble over it.

REPAIR AND MAINTENANCE SAFETY

NEVER operate your shredder-chipper in poor

mechanical condition or when in need of repair.
Periodically check that all nuts, bolts, screws, and
belts are tightened. Be sure all safety guards and
shields are in the proper position. These safety
devices are for your protection.

ALWAYS replace old, damaged or worn parts such
as bolts or guards immediately.

NEVER service or repair your Shredder-Chipper

without disengaging the PTO valve lever and shut-
ting off the tractor engine.

OPERATION

ALWAYS wear gloves and safety glasses when you
operate your shredder-chipper. If necessary to push
material into shredding chamber, use a wood stick
never hands or steel implements. At the end of this

INSTALLATION \

HYDRAULIC CONNECTIONS: @\

@shredder
et port is

itzh models, in-
e of unit. Refer

1. Connect PTO valve outlet
motor inlet. On trailer mo
toward rear of trailer. O

let port is toward left ha
to Figures 7 and 8. (b

2. Connect PTO valve return hose to shredder
motor outlet.

3. Connect case drain hose on shredder to case
drain coupling on rear of tractor.
IMPORTANT: The drain hose couplers must be
connected whenever the shred-
der/chipper is in operation or damage
to hydraulic motor will occure.

CAUTION

Hydraulic systems are highly pressurized. Escaping
hydraulic oil, even an invisible pinhole leak, can
penetrate body tissues causing serious injury. Use
a piece of wood or ard when looking for leaks
- never use the orother parts of the body.

pssure before disconnecting cir-
seémbling, make absolutely certain

hydraulic oil escaping under pressure,
tor immediately. Serious complications may

@i medical attention is not given at once.

@PEED: This unit has be designed to operate at a no-

section we offer additional cautions. Read an
observe them.
0 Q

load rotor speed of approximately 2800 RPM. The
rotor speed will vary depending upon the engine
speed and hydraulic system efficiency. At 3600 RPM
engine speed, rotor speed should be approximately
2800 RPM.




OPERATION

This manual contains information concerning proper
and improper operating procedures, warning,
maintenance, trouble shooting, assembly and tips.
Everyone who operates this machine should read
these instructions and be thoroughly familiar with
them.

THIS MACHINE 1S CAPABLE OF INFLICTING
'SERIOUS INJURY IF OPERATED IMPROPERLY —
READ WARNINGS & CAUTION

1. ALWAYS wear safety glasses and gardening or
work gloves at al! times while operating this
~ shredder-chipper.

2. NEVER allow children to operate this
equipment.

3. NEVER operate this equipment in the vicinity
of children, pets, or bystanders.

4, ALWAYS wear proper work apparel; avoid
loose clothing such as skirts or dresses.

5. NEVER run this machine in an enclosed area
since the exhaust from the tractor contains car-
bon monoxide which is an odorless, tasteless
and deadly poisonous gas.

6. ALWAYS keep hands and face away from fee
hopper and discharge area. Read operating sgé<
tion carefully. < @

7. NEVER remove the plastic shield o&% :
side shredding hopper. This devi ents

flyback and should be intact a when
shredding or chipping. Thj a)protective
guard.

GENERAL OPERATIOI\@»@

THIS MACHINE IS CAPABLE OF
INFLICTING SERIOUS INJURY
IF OPERATED IMPROPERLY -
READ WARNINGS AND
CAUTIONS

In operating your shredder-chipper, you should first
understand the basic principle of design. Other sec-
tions of this manual discuss shredding with and
without a screen, dry or green material. This is
general. At the end of this section we offer additional
cautions to be observed. Read them and observe.

ALWAYS wear gloves and safety glasses. If
necessary to push material into the shredding
chamber, use a wood stick, never hands or steel
implements.

Adjust the baffle plate {item 7,page 9) to direct the
discharge down and away from the shredder. The
discharge end of the shredder body has three drilled
holes in each side through which passes a baffle sup-
port rod. The loose end of the piate rests over this
rod providing you with three angles of discharge. If
ever you shred or compost without the perforated
screen be certain the baffle plate is held away from
the rotor by the baffle rod (figure 1, item 15), at the
center hole of the discharge. If not, the baffle plate
will swing backward into the grinding chamber strik-
ing the rotor hammers. Damage will resuit.

When viewed from the motor side of the shredder
body, the rotor runs counterclockwise. This action
tends to pull materials into the shredding chamber.
Short stalks (bean plants), cobs, sod and similar
materials should be f& to the hopper by garden
spade or pitchforks
ings can best be/fe
the rotor pull jr

2

When f or trimmings by hand, be cer-
tain toke Gi' hands away from the rotor and
ham ﬁember, a technique and understan-
ding ired to successfully shred or grind the

ety of materials which may be available to
compost.

g

nches are fed into the side hopper for chipping.

One at a time if they are thicker than 2'’, several
together if of smaller diameter. Since the throat
opening is approx. 3’ square some side shoots or
side branches may have to be trimmed from the main
stalk before the chipping process. Short stubs of
branches may be pushed through the chipper sec-
tion with the next branch. Never assume you know
where the blade is, and try to push short branches
in by hand. You don’t know where it is. Be safe, keep
your hands away from the chipping blade.

1. ALWAYS be careful that pieces of metal, glass,
rocks, cans or other non-organic or foreign ob-
jects are not fed into this equipment.

2. NEVER allow an accumulation of processed
material to build up under the discharge of the
shredder as this can prevent following shredd-
ed material to discharge and will result in

clogging.

3. NEVER allow your hands or any part of your
body or clothing inside the feed hopper or
discharge area of the shredder-grinder.

4. ALWAYS keep all protective guards on the
machine and deflectors in place and in good
working condition.

5. ALWAYS stand clear of the discharge area A
when the shredder is running.




SHREDDING TIPS

1.

ALWAYS keep your face and body
the feed hopper to avoid being struc
material that may bounce back. ver-

reach, keep proper balance a

%
e

gcessed is dry, brittle,
hard or woody, e'standard 1'’ perforated
screen in the ‘shfedder. For wet, soggy
materials, the unit will shred better without a
screen. An optional bar screen can be used to
advantage when shredding green fibrous
materiais such as cornstalks, wet straw or
manure. After processing wet or soggy
materials, the shredding chamber can be clean-
ed quickly by reinstalling the 1’ screen and
grinding a few branches or wood chips.

When material

The optional screens with 1/4, 1/2, or 3/4"" per-
forations are for speciai purpose (potting soil,
grinding shellfish residue such as clam shells).
It is necessary to first process the material
through the 1" screen, then through the
smaller hole screen, This works very well on
grains for poultry feed.

I

\(?RE 1 BASIC SHREDDER-CHIPPER

m
0. Description
1 -Rotor
2 Hopper
3 Chipper Side Plate Weldment
4 Drive Side Plate
5 Scroll
6 Screen (1" Standard)
7 Baffle Plate
8 Top Plate
9 Hammer Rod
10 Hammer
11 Spacer 7/8"°
12 Spacer 5/8"°
13 Spacer 5/16"'
14 Spacer
15 Screen and Baffle Rod
16 Tie Rod
17 Bearing Right Side
18 Vibration Dampener
20 3/8""-16 x 1" Hex Hd. Cap Screw
GR 5
21 5/16°'-18 x 1-1/4"" Hex Hd. Cap
Screw GR B
22 5/16''-18 x 3/4’" Hex Hd. Cap
Screw GR 5
23 5/16"7-18 x 1-1/2"" Hex Hd. Cap
Screw GR 5
24 3/8'"-16 Grip Co Lock Nut
25 5/16"-18 Grip Co Lock Nut
26 Groove Pin
27 3/32"" Hair Cotter Pin
29 Hopper Flex Guard
30 Push Button




NOTE: Item 48 may be located either place at fac-
tory assembly.

Item

No.
3
20

21

24
25
28
31
32
33
34
35
36
37
38
39
41
42

43

44
45
46
48

Description
Chipper side Plate
3/8-16 x 1-1/4"" He
Screw GR 5 Blk

5/16-18 x 1-17/a"Qék Hd. Cap
Screw GR
3/8-16 G ck Nut

5/16-1 o Lock Nut
Spacer

Chipper Plate

Chipper Hopper

Chipper Disc

Bushing

Knife

Wear Plate

Hopper Locking Handle

Bearing Left Side

Retaining Ring

3/8-16 x 5/8"" Set Screw
5/16-18 x 3/4’’ Flat Hd. Socket
Cap Screw

1/4-20 x 1’ Flat Hd. Socket Cap
Screw

1/4"" Flat Washer

1/4-20 Fiex Lock Nut

6-32 x 3/8’" Sheet Metal Screw
1-3/16'" Flat Washer

grinding green or damp material
nstalks, potato vines, tomato vines, green

3
@&or fresh pulled piants), remove the 1’ screen

and either install a bar screen or use no screen
at all. Direct the shredder to discharge into a
compost pile or against a wall, large board or
other obstruction. Feed cornstalks by hand,
slowly, several at a time until the last 18"’ re-
main in your hand then let go. This will give you
a coarsely shredded product several inches long
and stripped. With a garden spade or pitchfork
refeed this material into the shredder until it
reaches the condition your want. A cornstalk
that has been processed this way, just one
time, will break down within a day or two in
your compost heap. For green materials such
as tomato or potato vines, you may first have
to snap off extending side shoots. Place the
vine in the hopper and prod further with a rugg-
ed stick (never your hands}).

For grinding dry leaves, use the 1’ perforated
screen and dump leaves into the top feed hop-
per by basket, bag or pitchfork. If bridging oc-
curs, use a stick to stir leaves into the shred-
ding chamber. Freshly fallen leaves do present
a problem, and it is best to pile these and allow
to sit until they become quite soggy. If this is
impractical, these wet or damp leaves must be
processed through the unit with no screen and
along with other materials. All by themselves,
for the most part, wet leaves will simply blow
through the shredder. Soggy, partly decompos-
ed leaves process very well through your unit
if you first remove the screen. Dump in pit-
chfork loads and prod through with a stick.




5. For green hedge prunings, small diameter wood

prunings (with leaves), rose or flower trimm-
ings, process with the 1" perforated screen in-
stalled. Feed bunches at a time through the top
feed hopper. Experience will tell you how much

your shredder can handle at one time.

6. To process branches, dry or green use the side
chipping hopper. The 1’' screen may be left in
but it serves no practical purpose when chipp-
ing. It is best to clip off side twigs or limbs from
the main branch. Enter one at a time if they are
2’" or more in diameter. Green branches pro-
cess more quickly and easier than dry branches
and of course soft wood easier than hardwood.

Push the branch in at the angle of the hopper
and throat. Always have the removable hopper
in place. Never allow your hands to enter the .
hopper. As the branch being chipped shortens,
finish chipping it by shoving in the stub with
the next branch to be chipped.

Only your operator experience will tell you when to
use a screen or no screen, how fast to feed and how
to process difficult materials. There are so many
possible materials that we cannot discuss each in-
dividually. Some naturally are easier to work with
than others, but most all common organic products
available to a gardener can be processed by using
your shredder-chipper and common sense.

MAINTENANCE AND STORAGE

If the cutting mechanism strikes any foreign object
or if your machine should start making an unusual
noise or vibrating, stop the engine, and disengage
PTO valve lever.

a. Inspect for obvious damage.

b. Check for loose parts,bolts, rods, broken
hammers or spacers. Examine rotor visually
for any obvious defects.

1. Lubricate the chipper side rotor bearing before
operating and after every 10 hours of opera-
tion with multi-purpose grease. The motor si
bearing is self-lubricating and does not regui
greasing. Also check the bearing collér s
screws regularly to be sure they If
they are loose reset them with EV C-
TITE or equivalent obtainable at ware
store.

2. Do not allow an accumulé
material to build up undg
shredder-chipper as thi

to remove processed material build-up. DO
NOT USE YOUR HAND OR FOQT. Always shut
the unit off before clearing build-up.

3. When notin use, your shredder-chipper should
be stored out of the reach of children. Be sure
there are no gasoline fumes in the storage area.

4, When the hard steel hammers become dull or
round on the cutting or leading edge, they may
be reversed. First remove the cover plates to
expose the hammer rod access holes. One
hammer rod at a time can be removed through
this side hole and the hammers reversed as the
rotor is reassembled. Each rod is held in place
by a grooved pin. Install new pins. Extreme care
must be taken to reinstall the spacers (item 11,
12, and 13) in exactly the same order as shown
on the drawing. We emphasize this point. The

spacers and hammers must be reinstalled in ex-
5 der {see figure 1). See page

{ on removal and reinstalla-

When I chipping knife (item no. 35,

figure 8) ne€eds replacing or sharpening, rotate
i

disc until the three countersunk

ch
%} $olding the biade is behind the access
hen you install the knife be certain to

sse/E.V. grade LOC-TITE on the threads so they

Care must be exercised when sharpening the

@ill not come loose.

blade to maintain the correct bevel and a
straight cutting edge. When you install a knife,
the clearance between knife and wear plate
{item no. 36, figure 3) must be checked. This
clearance or gap should be minimum 3/64'’
maximum 1/16’’. See figure 3, below. To ad-
just this clearance, loosen the three 1/4"
flathead bolts which are located on the outside

" of the chipper wear plate next to the chipper

side plate. Move the wear plate in or out as
necessary and tighten the 1/4'‘ nuts securely.




Note, if the gap between wear plate and knife
is excessive, you will have vibration when chip-
ping and the blade will seem to be dull.

Iif at any time it becomes necessary to
disassemble the chipper for repairs, the chipp-
ing disc (item no. 33, figure 2) must be install-
ed in exactly its correct position on the shaft.

REMOVAL AND RE-INSTALLATION OF GROOVE
PINS

1.

2.

Remove hopper. {item 2)

Turn rotor until hammer rod is facing up - see
figure 4.

Turn hammer rod until small end of grove pin
is facing up.

Use a 3/16"" Dia. punch and drive groove pin
out of hammer rod.

When installing groove pin be sure you put the
end without groove in hole first, then drive pin
in to hammer rod until it stops.

Re-install hopper

|NS &

ASSEMBLY OF HOPPER WITH VIBM

DAMPENERS
1. Take the hopper and push t r ion
dampeners up into the holes, @ 1 and
5.
2. Place the hopper with t on dampeners

on the unit. NOTE: t side of the hop-
per is over the disc d. Align the holes

of the side plat@ e hopper.
With the 5/16''-18 x 1-1/4"" bolts (ltem 21)

thread the bolt up through the shredder side
plate and in the vibration dampener.

Continue to tighten the bolt until the distance
from the top of the vibration dampener to the
top surface of the hopper angle is 5/8" (see
figure 5. DO NOT OVERTIGHTEN.

HOPPER FLEX GUARD

Position plastic hopper flex guard (item 29, figure 6)
to the backside of the lip on the hopper lid. install
three pushbuttons (Item 30) thru hopper lid and flex
guard to secure in position.

-10 -

3/16 PUNCH

HAMMER ROD —

1,

GROOVE PIN —

MACHINE — UL
SIDE PLATE

ﬂ—.\_

©§ M/GROOVE PIN
o .
@\ FIGU RE 4

— T~ HOPPER
:/ HOPPER ANGLE
! / 5/16 GRIPCO LOCKNUT

VIBRATlON
' DAMPENER

'5/8", SEE NOTE

l
|
l
|
(LD anove

_—_.T_____ ul

FIGURE 5

FIGURE 6




AXLE

TONGUE

FIGURE 7 - TRAILER

Supply hose

TRAILER ASSEMBLY Supply elbo i

1. Position trailer tongue to trailer bed and secure
with three 3/8° NC x 1.0"" bolts and flange
locknuts. Leave bolts loose.

ONPWN =

2. Slide axle thru sleeves on trailer. Tighten

<o
tongue bolts. %@ ' FIGURE 8

Slide wheels onto axles with grease fittings to
the outside. Secure wheels with cotter pin

thru axle.

4, Position shredder/chipper onto trail r0 HYDRAULIC CONNECTIONS
hydraulic motor is toward left han %9
trailer.

5. Align mounting holes on trailgr: e shred- NOTE: The inlet port on the hydraulic motor
der to trailer with eight bolts and should be toward the rear of the shredder
flange iocknuts. assembly with check valve assembly

located below the inlet port. An elbow fit-
ting wiil be installed on the pump inlet and

COUPLER SWITCH K@g@ a straight fitting will be installed on the

: pump outlet.
Install this kit on the wing tractors to allow
Qperation of the hydraulic PTO when operator seat Install supply elbow tubing to elbow fitting.
is not occupied. Position supply elbow tubing toward front of
shredder and tighten fitting.

—

3012 - PIN 14167800 and after

3014 - PIN 14168800 and after 2. Connect supply and return hoses between pro-
3016 - PIN 14169500 and after per ports on PTO valve and hydraulic motor on
4016 - PIN 14170800 and after shredder.

3118, 4116, 4118, 4120 - all
3. Connect case drain hose to case drain fitting

NOTE: This kit is only for use with attachments on top of hydraulic motor and case drain line
that are normally operated with the on tractor. !f case drain line must be installed
operator off the seat such as the shread- on tractor, refer to hydraulic PTO or case drain
der/chipper. You must be in the seat kit instructions.

before you move tractor.

11 -




